S BeH
HEM. HEeH }\rg’%(oltﬂ-_ggéoHX‘l/Oltil-éng)

Sl 2o 2o (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
oo 534,089 518,575 15,514
Hoo A (LUZBHY/AeH) 392,459 381,791 10,668
oo 2ol 119,759 109,091 10,668
At 12,473 11,500 973
201 YEr2gy| 12,473 11,500 973
02 2B 12,473 11,500 973
oozl 6,973
—HRUE (ARA)
1,270 * 8AI2F » 1202 = 3CH 3,658
— MR (3oA)
1,27021 * A2 * 302 * 3CH 915
e
25008 * BAIZt * TKcal * 1202 2,400
CEEEVEENT 1,500,0002! * 14! 1,500
ORI 2,000,0002 * 2CH 4,000
2aAe 4,562 4,430 132
101 Q1248 1,832 1,750 82
VPIEEESEERS 1,832 1,750 82
OdtH e oy 36,6402 * 1% * 502 1,832
206 T 2 bl 1,190 1,140 50
01 2| 1,190 1,140 50
Ost Y R 1,190
-3 1,86021 * 100 ¢ 186
3R 1,690%1 * 150 ¢ 254
— SR 2,5002 * 300 ¢ 750
307 2120l & 1,540 1,540 0
01 222 72| 1,540 1,540 0
o#oIZel PEHI(AE0iH)
15,0002 * 3% « 128 540
OBOIAFL R 2 bl 500,008 * 27 1,000
2OS R 29,440 25,916 3,524
201 YEr2gY| 29,440 25,916 3,524
02 2B 29,440 25,916 3,524
OJNRE, Bots ®II23
6,000 * 3205 * 12% 23,040
OJNBE, 2ots +2ly|
50,0009! * 3205 * 40/100 6,400
2ETAS AL 19,048 13,485 5,503
101 Q1248 12,276 11,725 551
04 JIAR 22X EE 12,276 11,725 551
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24 B2
3 WO AY(LUTBHT/LU )

ool meo e (eto): e
_ - P e
SN -FH . SA(BA) - HPAY - BES Ofl &F o8 il ot o HDZ2
OZ2Y ¥ MYSHIl e
36,6408 * 302 » 22 * 33| 6,59
ORESASAIA (HLIR/Z 4|, =3 2el)
36,6402 * 1028 » 8Y 2,932
OZNEHl, XA 2. ICFHEY|
36,6408 * 3% x 252 * 13| 2,748
206 T =2 8l 6,772 1,730 5,042
01 X 24 6.772 1,730 5,042
OZ2 ¥ ZAX x4 1,300
—EE YA 2HTL 10,0002 * 105 100
—€/bl L HIZTY 10,0008 * 0% * 23] 400
—XYE 7 2 5,008 * 5% * 43| 100
-2257¢ 2002 * 500 100
—+27¢ 20,0008 * 30 600
Ou#Il g7 2,0008 * 507H 100
oszIIE LR P 1,86020 * 200 ¢ 872
SUE SMAE OEM ZUS ATHAIY
10,0008 * 5002 5,000
ZFOIXR| Jler2E) 54,236 53,790 446
201 YEr2| 446 0 446
02 222l 446 0 446
Ontsg¥e oV &3
5.3002 * 74 x 122 446
204 MR AY| 2,400 2,400 0
03 SHY2HY| 2,400 2,400 0
OH=gyz2e 100,0008 * 2¢ * 128 2,400
301 Ler2 A3 51,390 51,390 0
05 2 - UBFSLUI 48,270 48,270 0
OJl=+y 200,0008 * 14 * 128 33,600
oaoiZ 200,00021 * 14 * 200% 5,600
OflQ&A4e 20,0008 * 14% « 128 » 23| 6,720
Otz +g 50,0008 * 47¢4 2,350
10 #AAHI 243 3,120 3,120 0
OXALHEABE 3]0 A A
5,0008 * 52 * 128 3,120
ATR FoBH At 272,700 272,700 0
ARR FOUAHAAY 272,700 272,700 0
401 AlZHIL S OhH] 272,700 272,700 0
01 Al H| 270,000 270,000 0
OAREZ FOAHAAY 270,000,008 * 14! 270,000
03 Al& = CH bl 2,700 2,700 0
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SN Heo
B Yoo A (UBDIUT/LUHE)
Eel ARD FOIHY A (Ere): & 2
SA-BH - OA(B) - HRAY - BE2 O &t 04 e HRz2
OLH2 FOIHUAY AL
270,000,000 * 1/100 2,700
HH2FZH(B2E)(JIEH/IIE) 141,630 136,784 4,846
I 2 48,856 45,100 3,756
eIz 48,856 45,100 3,756
101 2124 Hl 48,856 45,100 3,756
01 2= 48,856 45,100 3,756
OANZeI2R4Y
8,078 = 14H » 36AI2t » 12& 48,856
&l 92,774 91,684 1,090
=234 92,774 91,684 1,090
201 2B 2| 33,944 32,754 1,190
01 AtR2telH 27,224 26,034 1,190
OSAEX 28l 13,0008 * 148FA « 128 2,184
OSTAEI 5,008 = 34 * 142 « 128 2,520
Ogpraag 100,000 + 128 1,200
Oxnl2 EA-7L 50,0008  12& 600
Oaxn2Z2==4Hl 6,580
— S Al =2l 500,000& * 14 500
—ZeIHI| el 100,000 = 4CH = 50/100 200
—= A £ 200,008 * 53 * 104 1,000
—ZeEI(SH)
200,000& = 53| = 4CH 4,000
—pC42] 100,000 * 14CH * 20/100 280
—JlEr2l8| 50,0008 * 122 600
OJIEt AtR2teld] 5,000& » 14% = 123 840
ogd=+=¢ 13,300
—=5 30,000& * 1% = 2502 7,500
-2 50,000& » 1& » 116¥ 5,800
02 ZZ2YH) 6.720 6,720 0
OZZ23 2 A 6,720
—RER 150,000& = 123 1,800
—TV REAIEE 10,000& * 128 120
—&JI23 350,000& = 123 4,200
—FIIQEEE A AR 100,000% 23l 200
—SFNERES 50,000& * 23 100
—datx A =2 200,000& = 12l 200
— AR E = 50,000& * 22 100
202 O4H| 45,920 45,920 0
01 = LHAOHI 3,920 3,920 0
O=WHxHI 70,000& * 14%H » 4« 3,920
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